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é10%�êâ§1 ≤ n ≤ 5

é40%�êâ§1 ≤ n ≤ 18

,	�320%�êâ§bij = 1

é100%�êâ§1 ≤ n ≤ 100§1 ≤ aij ≤ 104§1 ≤ bij ≤ 104
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é10%�êâ§1 ≤ n,m ≤ 3

é40%�êâ§1 ≤ n,m ≤ 18

,	20%�êâ§n = 2

é100%�êâ§1 ≤ n,m ≤ 300
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• 1 L R :
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*ÿêâ¥x�²þê§^ȳL«ù


*ÿêâ¥y�²þê§=

x̄ =
1

R− L + 1

R∑
i=L

xi

ȳ =
1

R− L + 1

R∑
i=L

yi

XJ���§´y = ax + b§@oa!bA�ù�O�µ

a =

R∑
i=L

(xi − x̄)(yi − ȳ)

R∑
i=L

(xi − x̄)2

b = ȳ − ax̄
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• 2 L R S T :

Frankuyÿþ1L|�1R|êâ�kØ�§éuz�i÷vL ≤ i ≤ R§xiI�\

þS§yiI�\þT .

• 3 L R S T :

Frankuy1L|�1R|êâI�?U§éuz�i÷vL ≤ i ≤ R§xiI�?U

�(S + i)§yiI�?U�(T + i)"
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é20%�êâ§1 ≤ n,m ≤ 1000

,k20%�êâ§vk3ö�§�2ö�¥S = 0

,k30%�êâ§vk3ö�

é100%�êâ§1 ≤ n,m ≤ 105

éu¤kêâ§1 ≤ L ≤ R ≤ n§0 ≤ |S|, |T | ≤ 105§0 ≤ |xi|, |yi| ≤ 105
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